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Improvement Test

Answe1 any. ﬁve full questlons

Use Big M method to solve the LPP, Max Z = 6x + 4y subject to the constraints 2x ~ [10] | CO2 | L3 |
+3y<30;3x 2y <24, x+y=2 3 x,y>0 i
Use two phase method to solve the LPP Max P = 2x + 3y +4z subject to the  {10] | CO2 | L3
constraints 3x + y + 6z <600; 2x + 4y +27> 480; 2x + 3y + 32=540, x,y,2>0

Solve the transportation problem in which the cell entries represent the unit costs( in

lakhs of rupees) of transportation. ‘ !

DI [D2 D3 dernand ! [
0l 2 7 4 5 ; L
02 3 3 1 8 1 |
03 s 14 7 7
04 1 6 2 14
supply | 7 9 18

(a)Four professors are each capable of teaching any one of the four dlffenent {51 1 CO4 | L3
subjects. Class preparation time in hours for different topics varies from professor
to professor and is given in the table. Each professor should be assigned only one
subject. Find the schedule so as to minimize the toal subject preparation time for all
subjects/professors.

Subjects !

5 S, 53 Sy !

Professor Py 2 10 9 7 3

Professor P, 15 4 14 . 8

Professor P; 13 i4 16 11 .

Professor Py 3 15 13 8 R
()Solve the travelling salesman problem given by the following data Ci= 20, Ci= [5] | CO3 ;L3

4, Ciy= 10, Cp5= 5, Ca= 6, Cp5= 10, Cy5= 6, Cys= 20,where C;; = C;; and there is no
route between the cities i and j if the value of C; is not shown.

(a)What is a saddle point? Solve the following game using dominance concept [5] CO3 | 1Lt
Strategies Player B
Bl B2 B3
Player A —A, 4 5 8
Player A —A, 6 - 14 6 :
Player A —A; 4 2 4 |

(b)What is Mini max or Maxi min Principle. Solve the given 3 x 2 game by £5] Co3 | 1.2
graphical method.

i I :
I 3 -2 ;
Ii -1 4 !
il 2 2 N

Use the dual simplex method to solve the LPP Minimize Z = 2x +y +3z Subject to [10] 1 CO2 | L1

the constraints.x -2y +z> 4, 2x +y+2<8,x—z> 0 withx,y,z> 0 N

Use Revised Simplex method to solve the following LPP Maximize Z = x + 2y  [10] | CO2Z | L2

subject to the constraints X +y <3, x +2y <5, 3x +y <0, %,y =0
Page 1 of 2




Y E CA Ao A(z (/ {/1 C‘X[”)

i ¢ b o e
z{ ,{ M/gw{ P = m.?i - 2}7

N

;
i ;
e
(h G L
™ i
i £
L
j i
- ! pon ;
A : .
> L 2
3 i.
] g
:

]
i

ff}.{?‘w/ N s




-
7
L~

e

fos?

Fa

Y Y
£ 4 . £ £ . e ) /
7‘2‘”@% %{"“}é “’“’”’“""‘”é*“‘{wmﬂ} Ay évﬁ es¥lio X

B ARy y Yoo . (2 M)

-

L










: wd 3 g
T ‘ﬂu .fv. e g, ! a«M_ M;ﬂ;w%
S b W il

4 e

P

]

-

LS A et
S by S N
oy w £y <

i i, d

2.2

b3
LA

&

S

é,fj‘w-; /E.M st

Y



Z’f -
N ;;”
e

;f f';r«»fw‘

'y . =
i TR e L
) £

/

e v !”f;ﬁ.f"”“ | fﬁb . ?
ani% ?f >

P - ‘_ -

VX G+ ) 2% 6 F

e

(O 2

F3

’ }{‘}’ ;f;:”}“{f R é /{W.-«;EZ;J// q&m’/%

S /g ,.aih.J%;;f/;w 4 ( ‘”} A )




™

} Vl e ( LA } o Uw}f/ // ““") f
| B A A N Y A

f’s """" N ( —3 j> - é S ‘“;f S (/ pe - ,fj’) P
~ (o )M o The g%:}/ b IS o

gl /{ v e - i,«siybfcm@fi /@iﬁ’} AY /&” “@*L;?

. F
- / S C.‘.é%..dﬁ.--!f C:’,";/yammHfidﬂ-m,ﬁm{w S




o F

y b
y
=

o}

A1/
o, 'é/??}

‘;.J.‘
o
=
o
N
b

Q../‘ik,,. o ,z‘} I {‘: ;

&
-

Y
e iy
g

{
4 &é&@
(,\;7 ™)

P

/
C X5 A 2K8 44X Ity 220] Fp2x2







f}} £ f} ) ﬁ::‘w f vff /}&/?{%w"}iwuﬁ

e

. f .
i {{ﬁﬁ//ic’faﬁ’t:,"g

é‘f}jﬁ 7 f’J/ ) IR {/ __ gé{}“?ﬁ}w <_”'I.'J?é:~~*f§-;"ﬁ’m}"x,.,fw fmgfffw'i/} f@‘g /} :

5{ f f”é;&i?&‘vﬁh;ﬂ ‘d\-ﬂ&.«é’{*& ,f?;}

] f{é’ ,fﬁfx’v’i a’r%fﬁf?w;»fvl‘a b

o,
&

AR EAVER T

\

, |

5 J ~ o ;{i‘ i; C-;} . {; q . P e ‘/E % ‘
,- . |

i |
|
|
|




e A
VAR A S ey

m_u\\
.
.
@,
-
f—
b
G
-
,
\Wﬂ
T,
2
"
et

A . '
e {//éw/’i.ﬂaé‘i..fwj y ,,e?f“"’.’,\'

AT

"/ T
E'Mr_'y

‘‘‘‘‘‘‘

‘b -,
AL A

5
. '/
{/@M(«aﬂwwf“v"\“..‘ Y

LD AW e WS g A At
. -

o

b3

! )
C »«_Q F o _M{/ . o / -
4,{ /"{cﬁ“’ et g j{;,,ﬂ CALA e 7 J{{,:,J,/

P
v ,«-}"“}r&?} £

s
""""" i 5



f»%

RV O A

g ;o Ve

I ?,» 4 7 eon 4 5 i {} , = 57 ’ ‘j o L// 'rn I;z" ) I
5?‘?;—‘};;}.7‘ PNy Zry SLon, plogeg /740 £ ﬂf,‘_./ Wg,/ Sl %/ _

: /
o ; R L e - s £ i
// . /L“ fL/‘Q iR f,mg S S 72 i,-/cff-«-’-{,__...k‘-é’l--fuﬁ .

(e :;

/"}

A
Crmin i Chlained oo
=l ”} e B e A ?/ g{/&%«{‘,ﬁj .
.

Ve B

" f’(m . : S
’37% j ' f m/%ﬂqyﬁn & W 4 “*’W*u/:w"%'ff»

}L ¥t et

‘ I;’ B A W/:} 'f« o /D{/ . X

AR el ’ B VS G
v e " N gt -

= P X L: - (2& &
P Y0 \ 2
e ,

JEE *’“MM&M,/J({ v

|



/f‘wg“{g

?}Qg bk

N s

™ e

J

¢

-] ]

[

O

€
S

|

b
£

¢

———1

T




£

-
J
D fg,’/i Cervatal
ks
ol
e
€1
3

e
o

=
&
Loy

i
/
e

;

1
hf

¥
-

t

=

‘ : @ 1
/4 | . 9. ﬂ i £7 5 [ i 5,
N < ALY B :

. By
73 ¢ . w,z
® i ",.ﬂ ‘

M y

P




LE
O

» g g, S 2



e

.‘
e |
- E
H e S :
—_. s, S & nff} ¥ Wms [ _—
g % o . N - . ¢
4 ., . an /ﬂ#\“ 8] r;..f!!lf.,.frs: —— - M /
L ¢ & [ e T L i Y
g R i T
k ¢ ,..




